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SECTION A: MULTIPLE-CHOICE QUESTIONS (45 MARKS)

1 The long-term financial goal of the firm may be achieved by

W NN =

maximising revenue and minimising expenses

minimising the cost of capital and maximising return (IRR)
maximising assets relative to labilities

accelerating cash inflows

2 The pnmary short-term financial goal of the firm may be best achieved by

1
2
3
4

maximising revenue and minimising expenses

minimising the cost of capital and maximising return (IRR)
Increasing expenses In order to reduce the firm’s tax liability
accelerating cash Inflows and delaying cash outflows

3. The statement of comprehensive iIncome measures  and it 1s also known as

= W

revenue and gross profit, earnings-after-tax tnal bajance

gross profit, earnings before income and tax (EBIT) and net profit,Statement of
financial performance

cost of goods sold and operating expenses, balance sheet

sales, EBIT and earnings-after-tax, cash flow statement

4 A decrease In sales revenue as a result of a strike 1s recorded by

1

crediting cash

2 crediting sales
3 debiting cash
4 debiting sales

5 One method often used by companies to ensure that management decisions are in the
best interest of the shareholders 1s to

.1

remove prerequisites

2 threaten to fire managers who do not performing adequately
3 tie management compensation to the performance of the company share price
4 tre management compensation to the level of earnings per share

[TURN OVER]
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6. ABC Manufacturers Ltd has to raise an additional R1 000 000 in equity The firm

shouid ideally finance itself by means of

N —

oW

each

7 A firm’s cash flow becomes more predictable as the

1 current ratio increases

2 return on owners’ equity Increases
3 current habilities decrease

4 current assets decrease

Use the following information to answer guestions 8 1o 10
Capital Cup Ltd I1s a newly listed company on the JSE Limited

R300 000 in cash, R100 000 in accounts receivable and R600 000 of inventory
R900 000 in debentures, 10 000 ordinary shares at a par value of 100 cents
each and R10 000 in retained earnings

500 000 ordinary shares at a par value of 200 cents each

R300 000 in debentures and 700 000 non-voting preference shares at 100 cents

Sales R650 000
Earnings after interest R150 000
Tax 35%
Preference dividends due R7 500
Preference shares 1ssued 5 000
Ordinary shares 1ssued 10 000

8 Calculate the earnings after tax for Capital Cup Ltd

1 R 92000
2 R 97500
3 R119000
4 R120 000

[TURN OVER]
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9 Calculate the earnings per share (EPS) for Capital Cup Ltd

R5,20
R7,50
R9,00
R12,00

WM =

10 Calculate the net profit margin for Capital Cup Ltd

10,40%
11,56%
12,67%
13,85%

-l‘-*-r.n)l\a_—L

11 If accounts receivable increase by R100, inventory increases by R200 and accounts
payabie increase by R400, net working capital would ..

1 decrease by R300
2 increase by R300
3 decrease by R100
4 ncrease by R100

12 At the operating breakeven point, .. equals zero.

1 vanable cost

2. fixed cost

3 net profit after tax

4 earnings before interest and tax (EBIT)

[TURN OVER]
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Use the following information for Wembley Limited to answer questions

13t0 18

Openuing inventory R 70000
Closing inventory R 50000
Cash R 30000
Accounts receivable R 40000
Long-term assets R500 000
Accounts payable R 50000
Long-term debt R300 000
Equity R270 000
Sales R400 000
Cost of goods sold R200 000
Profit before tax R 80 000
Tax 35%

13 The gross profit margm for Wembley Limited 1s closest to

1 20%
2 50%
3 100%
4 200%

14 The net profit margin for Wembley Limited 1s closest to

1 9%

2 1%
3 13%
4 20%

15 The current ratio for Wembley Limited i1s closest to

SN2
NN — -
Ao M

16 The inventory turnover for Wembley Limited is closest to

1 2,86 timespa
2 333 tmespa
3 400tmespa
4 623timespa

[TURN OVER]
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17 The average collection period for Wembley Limited 1s closest to
{Assume 360 days per year)

1 36 days
2 80 days
3 180 days
4 360 days

18 The return on investment (ROI) for Wembley Limited is closest to

1 8,39%
2 16,77%
3 55,00%
4 none of the above

19 A firm can best improve its return on equity (ROE) by increasing its

1 sales and decreasing expenditure

2 asset turnover and financial leverage

3 net profit margin

4 net profit margin, asset turnover and financial leverage

20. Calculate the growth rate of the following stream of cash flows
2013 4600
2012 3000
2011 1900
2010. 1 800

23%
36%
43%
53%

21 Calculate the future value (FV) of R15 000 invested for six years at an interest rate of
8%, compounded semi-annually

1 R14 026
2 R14 106
3 R24015
4 R26734

[TURN OVER]
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22 Calculate the present vaiue (PV) of R100 000 received mine years from today at an

interest rate of 12% Interest 1Is compounded monthly

BN =

R27 895
R34 142
R37 980
R43 998

23 How much should Alfred Invest today at 9% interest per annum, compounded
quarterly, to be able to buy a house worth R2 500 000 six years from today?

1
2
3
4

R 672971,33
Rt 115 564,17
R1 465 616,71
R1 954 322,19

24 Find the present value of the following stream of cash flows by assuming that the

organisation has an opportunity cost of 11%

2O =

Years

Amount (R)

1-3

25 000

47

50 000

R 71 203,41
R100 268,41
R155 268,41
R174 516,94

25 If John invests R50 000 in a unit trust offering a rate of return of 17% per annum,

calculate how long 1t will take for the investment to reach R200 000

R

9 years
10 years
11 years
13 years

[TURN OVER]
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26 If Gerard invests R8 000 at the beginning of each year at an interest rate of 8% over a
six-year period, the future vatue of the investment would be

R58 687,43
R60 000,00
R63 382,42
R81 000,00

B WO =

27. Bovest Ltd has determined its optimal capital structure, which comprises the following

Form of capital Weight After-tax cost
Long-term debt 60% 4%
Preference shares 20% 13%
Ordinary shares 20% 10%

The weighted average cost of capital is

5,3%
7,0%
8,4%
9.1%

B~

28 The after-tax cost of debt for a firm, which has a marginal tax rate of 35%, is 6%
Calculate the before-tax cost of debt

1 6,0%
2 81%
3 92%
4 17.1%

29.The best way in which a firm may improve its profitability would involve

1 reducing expenditure on non-core business activities

2 employing fewer permanent staff and using contract workers during peak
periods

3 mncreasing sales by means of improved marketing

4 selling all its non-core assets

[TURN OVER]



10 FIN2603/RFI12603
May/Jun 2017

33 Green Oak Ltd has made an initial investment of R500 000 in a new project The firm’s

cost of capital 1s 12% The Investment 1s expected to generate the following cash
inflows over the next five years

Year 1 R 50 000

Year 2 R 60000

Year 3 R150 000

Year4 |R140000

Year 5 R300 000

The profitability index (P1} 1s , therefore, the investment should

0,92, be undertaken
0,92, not be undertaken
1,09, be undertaken
1,09, not be undertaken

A WwnN =

34 The present value of the cash flows of an investment i1s expected to total R180 000
The profitability index is calculated at 1,50. Calculate the initial investment

R120 000
R130 000
R140 000
R150 000

AWM=

35 A firm with a cash conversion cycle of 50 days can stretch its average payment period
from 15 days to 30 days. This will result in a/an

decrease of 15 days in the cash conversion cycle
Increase of 10 days in the cash conversion cycle
decrease of 30 days In the cash conversion cycle
increase of 15 days in the cash conversion cycle

WA =

[TURN OVER]
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30 Which of the following statements are not true with regards to management accounting

Management accounting is internally focused.
Management accounting i1s future-orientated
Management accounting 1s more seif-contained
Management accounting 1s multidisciplinary

A W=

31 William, the export manager of an international company, wishes to replace a machine
five years from now with a new machine that will cost R1 000 000 in five years' time If
equal end-of-year deposits are made Into an account paying an interest of 9% per
annum, calculate the size of each deposit

H 23 535,24
R 89 382,38
R123 546,23
R167 092,45

oW =

32. The financial manager 1s evaluating a proposal for a new project with the following cash

flows
Year Net cash flows
0 —R1 000 000
1 R 550 000
2 R 350 000
3 R 90000

The payback penod 1s

two years

between cne and two years
three years

more than three years

A WN -
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41 Ben Johnson has arranged for a 60-day loan at an annual interest rate of 7,5% per
annum {f the loan amount 1s R1 000 000, how much interest will Mr Johnson pay in
rand terms? (Assume a 360-day year )

W N -

RO

R12 500
R25 000
R75 000

42. Calculate the EQQ given the following information

18 506 units used annually, purchased at R55 per unit
Order cost 1s R336 per order
Carrying cost 1s 9% of inventory value

1
2
3
4

1 B85 units
1 599 uniis
1614 umts
1 633 uniis

43 Credit terms of 3/10 net 30 are set for a business. These terms imply

O =

a 3% discount if paid within 30 days, otherwise, the balance 1s due in 30 days
that the bond must be amortised before 3 October 2030

that the lease agreement expires on 10 March 2030

a 3% discount if paid within 10 days, otherwise, the balance 1s due in 30

days

44 Which ane of the following statements is incorrect?

N =

Relaxation of credit standards will cause an increase in sales volume
Relaxation of credit standards will cause an increase in accounts receivable
Relaxation of credit standards will cause a decrease in bad debt costs
Tightening of credit standards will cause a decrease in bad debt costs

45 Which stakeholders have the first claim on assets when a firm enters bankruptcy?

AW =

Creditors

Top management
Debtors
Shareholders

[TURN OVER]
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36 A company has a cash conversion cycle of 50 days. Annual outlays are R9 million and
the cost of negotiated financing 1s 9% Calculate 1ts annual savings If the company
reduces Its average age of inventory by 15 days Assume 360 days per year

1 R15679
2 R37778
3 R87750
4 R99 500

37 The cost of a giving up a cash discount under the terms of sale 4/10 net 30 1s
(Assume a 360-day year )

1 37,11%
2 55,67%
3  7500%
4 111,34%

38 Calculate the difference between the following two investment proposals.
(a) R1 401, 82 invested annually for five successive years at 9% per annum compound
interest

(b) R5 209,22 invested for a period five years at 10% per annum compound Iinterest

RO
R36,10
R80,25
R100,35

B UON =

39 A firm has annual sales of 120 000 umits Carrying costs as a percentage of inventory
value 158 13% The purchase price per unit 1s R200, while the fixed costs of placing an
order 1s R20 per order The ecanomic order quantity (EQQ)1s  units

1 245
2 320
3 430
4 897

40 Assume the sales of the above-mentioned firm are expected to increase by 25% and
the purchase price per unit increases to R250 Calculate the new EOQ

160 units
430 unts
580 units
660 units

WO

[TURN OVER]
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Prepare a cash budget for the months of February, March and Aprl
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February (R)

March (R)

April (R)

ash recei

Total cash receipts

Cash payments

Total cash payments

Cash surplus/
(Deficit)

Beginning cash

balance

Closing cash balance

[TURN OVER]
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SECTION B: LONG QUESTIONS [25 MARKS]

QUESTION 1 (10 MARKS)

The forecasted sales for GVP Metals Limited for January to April 2016 appear in the table

below.

Month January | February | March Apnl

Sales (R) | 200 000 | 250 000 300000 | 350000

e The company receives 50% of all sales in the month of sale, 30% one month later, and

15% two months later Five per cent of the company’s sales are wrtten off as bad

debts

» Purchases are valued at 60% of each month’s projected sales and are paid for in the

month of purchase

e The following cash receipts and cash disbursements should also be taken into account

C

Rental income for January and February amounted to R12 000 per month, while
a 20% increase for March and Aprii are forecasted

Additional office space will be rented by the company from the 1st of March
2016, 1n order to accommodate future expansions. This will cost the company
R20 000 per month

Depreciation on the company’s vehicles amounts to R10 000 per month.

In April,-the-company made a cash contnbution-of-R15 000 to a local charity
Telephone expenses vary-each month The telephone-costs for February, March
and April are expected to be to R2 000, R1 800 and R1 900, respectively
Salaries are_paid as commission, which I1s calculated at 11% of each month's
sales value

In March, payment for delivery vehicles becomes due and the company needs
to pay R15 000 to its suppler
The retrenchment of two employees in March cost the company R33 000

The closing cash balance on 31 January 2015 1s R25 000

[TURN OVER]
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QUESTION 2 (10 MARKS)

Marx & Sons Inc considers investing In a new project The outiay of the project will cost
R3 000 000 The financial manager of the company has estimated the cash inflows
associated with this new project as follows

Year Cash inflow
1 R 100 000
2 R 500 000
3 R 800 000
4 R 800 000
5 R1 500 000

The firm's cost of capital 1Is 11%

21 Calculate the net present value (NPV) of the proposed project (4)

[TURN OVER]
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ROUGH WORK
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QUESTION 3 (5 MARKS)
Use the following information for B&B Limited in order to answer the following questions

Expected sales (units) 1500

Selling price per unit R3 000

Varnable cost per unit R1 400

Total fixed cost R600 000

31 Calculate the breakeven valume (3)
32 Calculate the breakeven value (R) (2}

Total [70 marks]

[TURN OVER]
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22 Calculate the internal rate of return (IRR) of the proposed project, rounded off to the
nearest whole percentage {4)

23 Evaluate the acceptability of the proposed project based on your calculations of the
NPV and IRR What recommendation would you make regarding the implementation of
the project? (2)

[TURN OVER]
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ROUGH WORK (Will not be marked}
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ROUGH WORK (Will not be marked)
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Table 2- Future-value interest factors for a R1 annuity compounded at k per cent for n
periods

FVIFA= Y (1 +k |
=}

Perod [ 1% & % 4% 5% 6% % L 9% | 1ox | A fodex | 13% [ 14% ) 35% | dex | 0% [ 25% 1 % | 5%

1 11000 J1000 11000 11000 1000 |1000 1000 11000 J1ooo f1ooo Jiooo Jiooo (1000 J1000 J1ooo J1ooo f1ooo j1oo0 f1om0 iooo

2 1200 12020 12010 |2040 |2050 |2060 2000 (2080 12090 |2100 |2110 §2i20 [2130 2140 |2i50 2160 j2200 {2250 {2300 J2350

1 3030 [3060 J309b 3922 [3153 J3i84 [3215 3246 |3278 13310 3342 {3374 |3407 |3440 13473 f3506 Jiedo 3813 [30% [4173

4 J4060 14122 B4184 4246|4310 pd 375 14440 |4506 (4573 (4641 [4710 4773 J4850 [4921 (4991 §5066 |5368 |5766 |6187 6633

5 J500 J5204 JS308 5416 [5526 [5637 |575i 35867 5985 (6105 [6228 [6353 |6480 [6610 [6742 6877 (7442 |s207 |9ce3 [aos4

6 16157 |6308 6458 16633 16802 [675 |7i51 J7336 y7523 |7716 |7813 |&115 |83p3 [8536 [8754 8977 {9930 [11259 J12756 |14 438

P lratq |7434 |7ec2 |7838 8142 [8394 [8654 (8923 19200 9467 9783 |10089 JiG405 J1073C 11 087 |11 414 [12316 [15073 |17 583 {20432

8 18786 8583 8852 |3214 [9549 |98S7 {1026 (DR |H103 1144 {1186 11230 11276 1323 1373 |ia24 1650 [1984 2386 (2865

9 9369 13755 11046 1058 1103 {1145 11198 (1249 1302 1358 11416 11478 11542 11609 11679 |1752 12080 Jesao |nor {3870

Y0 1046 §1095 J1i46 1201 41258 JU318 1382 1443 JI519 h1564 4672 J1755 (1342 11934 12030 12132 12596 }3325 4262 [sese

11 11157 M1217 Ji28 {1349 j1az1 11497 11578 Y1665 11756 |1853 1956 2065 (2081 12304 12435 2573 13215 {4257 95641 M7470

1211268 1341 J1419 1503 |1592 |1687 [1789 (1898 12014 [2138 |ez7 {2413 12565 (2727 |2900 3085 [3358 |S421 {7433 fi018

13_11381 1468 1562 J1663 [1771 Jisss 2014 2150 |2295 {2452 Jz6gl [2803 |2998 [3208 3435 |3679 [4850 |6876 {9763 1285

14 1495 1597 (1708 Ji829 |1960 J210z |2255 (2421 2602 |2797 [l008 [3239 |3488 3758 J4050 34367 [so20 |es9s l12rs |iseo

15 _[i610 1729 1860 J2002 (2158 |2328 f2513 [2715 2936 |31 77 |3441 3728 4042 [4384 [4758 [S166 [7204 1087 673 |2547

16 [1726 |1864 2016 J2182 12366 |2567 |27B9 13032 {3300 3595 |3919 |4275 [4667 [3098 (3572 (6093 |8744 [1381 2185 [id49

17 11843 J2001 2176 12370 J2584 |2821 |3084 [3375 |3697 4054 |4450 [4888 [5374 [5932 [6508 |7167 J1ose [173¢ |2850 lde6é

18_ (1961 J2r41 |2341 2565 J2813 |3091 [3400 3745 4130 4560 {5040 {5575 [6173 [6839 [7584 8414 [1281 [2150 |3m 5 6303

19 2081 |zz84 2512 |2767 J3054 3376 |3738 4i 45 [4602 p5116 [569¢ [6344 {7075 7897 |ss2l |9860 |1s47 [2736 J4s40 fase7

20 42202 (2430 [2687 2878 3307 [3679 14100 [4576 5176 [5727 |e420 (7205 [8095 |02 1024|1154 [1867 |3429 |e3p2 |iis2

21 [2324 |i578 2868 13197 {3572 |3999 4487 [S042 [S676 [6400 |7227 |81 70 [s247 11048 J1188 l1ME |2250 4237 ]802 ]isse

2212447 |2730 13054 33425 3851 4339 14900 [5546 6287 |7140 B 21 |9250 1055 }i204 1376 1574 {2710 (5381|1067 ja02

23 2572 2884 }3045 §3662 [4143 4700 5344 6080 6953 {7954 JOIi5 Jioee 11202 1283 3593 |83 }i262 6736 Ji3B8 [2839

24 J2657 13042 [3443 11308 4450 {5082 |5818 fe676 {7673 {8350 [1022 §1182 Y1368 |1587 |iB42 |2140 13925 |&430 ligoe |38

25 jo824 13203 |3646 f4165 14773 [5486 6325 {7311 48470 |9835 |ui44 [1313 |i556 |1819 2128 M2492 4720 [1055 |2m8 |si77

30 13478 [4057 {4758 |5608 [6644 7906 3448 1133 [i363 [1645 41990 (2413 [2932 3568 4347 15303 [ii8e {3227 Jerio jena

35 4166 J4999 |6046 17365 19032 1114 |1382 Ni723 2157 f27iC (3416 [4317 [5467 [6936 |BR1 2 |H121 2948 9857 [iadd .

40 4889 J6040 |7540 (9503 (1208 [1548 1996 2591 3379 [4426 |sei& f7e7: 1014 Jr342 J1779 B2ae1 7344 30089 . .

45 15648 |7tgs J9272 10 J1587 2127 {2857 [3865 5259 |7189 |oses [i3se 1874 [259 {3585 l4965 18281 [91831 . *

50 |6446 |8433 |I128 [1527 (2083 [2903 (4065 |S738 151 (1164|1669 |2400 3460 4995|7218 (10436 |45497 . . .

EVIEA > 99999
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Table 1+ Future-value interest factors for R1 compounded at k per cent for n penods

FVIF,=(1+k )

Perod | 1% 2% 3% 4% 5% 6% 7% 8% 9% 10% | 1% [ 12% | 13% | 74% | 15% | 16% | 20% | 25% | 0% | 35%
1 J1010 [1020 41030 }1040 11050 |i060 |1070 11080 |1090 Jiioo J1y10 |1120 {1130 1140 {1150 31160 1200 {1250 {1300 |1350
2 J1020 (1040 1061 J1082 J1103 J1124 {1145 11166 |1183 J1 210 |1232 |1 254 [1277 1300 |1323 {1346 11440 J1563 1630 [1873
311030 J1061 1093 Jri2s Jii5B J1181 11225 [1260 J1295 1331 |1 368 |t405 |t 443 |1482 15a [i5e1 [r7es Jiesy f2197 |zd4s0
4 J1o41 |1082 frize 1170 |1216 [1262 |1301 [1360 |1d412 [raes [1518 {7574 Jredc J1ess |1749 1811 2074 244 J2s5 [3322
S_|105t Jiro4 1158 j1 a7 fieré |1338 11403 fr469 |1539 jreil f1885 |i7e2 Jugsz |rges Jeonr f2i00 f2488 |3052 [37i3 {4484
b J1062 Jil26 |ii94 {1265 |1340 1419 |1500 158 Ji677 {1772 {1870 J1974 p20d2 |2195 §223t3 ([2436 |2986 fass 14827 |6053
711072 J1149 |3230 |1316 J1407 F1504 |1606 f1714 11828 |1949 32076 J2 211 2353 Jesor JoseD f2se6 [a583 4768 [6275 [ai72
8 J1083 j1172 [1267 1368 J1477 11594 11718 [1850 |1933 (2144 [2305 |2476 2658 |2853 {3059 f3ers [4300 Js9e0 18157 1109
9 41034 [1195 1305 1423 J1551 {1689 |1838 |1939 [z2172 2338 [2558 |2773 Jiood4 |3zs2 J3sis [3803 [5160 {7451 1060 1489
10 J1105 J1218 Jr344 1480 j1629 |17 [1967 2159 [2367 §2594 |2839 |a106 Jades |avor leote 4411 Jersz [su3 fia7e J20u
11 Jitie (1243 f1384 ]1539 41710 189 |2105 12332 12580 2853 3152 3479 3836 4226 [4652 |S117 [7430 DNied 1792 Jerua
12 gi127 [1268 |i426 |1601 1796 f2012 |2252 {2518 2813 |3138 |3498 J3goe [4335 4818 [535¢ [5936 [8916 [14355 |2330 364
13 1138 11294 [t469 |1665 J1886 2133 2410 2720 |1066 3452 |31883 4363 J4898 |5492 6153 |6836 [1o70 |19 oz [4347
OJ1149 {1319 JIS13 J1732 J1980 |2261 12579 |2937 [3342 3797 |4310 |4887 [5535 6261 |7o7e |7o9se [1234 2274 ]3937 |ee7s
$5 JUI61 1346 1558 |1801 J2079 2397 12759 |3172 (3642 4177 |4785 (5474 6254 7138 8137 |9266 [1541 2g4z 5139 {9016
36 J1173 [1373 1605 1873 |2183 |2540 [20952 3426 |3970 [4595 5310 6130 [7067 8137 [9358 1075 1843 |35353 feess [1a7
371184 [1400 1653 f1948 2292 2693 (3159 J3700 [4328 |5054 [5B9S fcdee (7986 9276 |1e7e 11247 2215 Jaem (8650 |1643
Y8 11196 [1428 1702 12026 12407 |2854 11380 13996 J4717 J5560 6544 |7690 [9024 |i1038 |1238 {1446 32662 5551 l1125 feat e
19 [1208 [1457 |1754 J21G7 |2527 13026 13617 4316 [5td2 |6116 |7263 |R613 |1020 |i206 [1425 {1678 3195 6339 1462 |2995
20 11220 [1486 J1806 2191 2653 (3207 13870 |4eel |Se0d je7er Jsoe2 |9sd6 [i152 1374 |1637 1946 Jag 34 fsers 1900 443
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Table 4 Present-value interest factors for a R1 annuity discounted at k per cent for n perods

g
PVIFAi,= Y ——
: ,Z‘(]Hc )

Penod | 1% 23 X 4% 5% b% i 8% 9% 108 1 18% [ 1% 3% 1 vex 5% | iex | 2o | 25% f oox | 35y

110950 f0938C 10971 10962 [0952 10943 }093% |0926 0917 fosos |oson Josss [osss |oar o870 lossz foss: [osw [ores lors

2 11970 |ra42 Juoi3 |rase Jieso [1833 Thieos qi7a3 [1759 |rzag Jivid lisso [1ess {1647 1625 |reos |ivos 1440 11361 1289

3 12941 2384 jeka9 la77s [e72) 2673 |2 6a4 2577 |25y 2487 [2e44 J2eo2 [23s1 |esez 2283 {2246 2106 l1es2 limis |19

4 }3902 J3808 (377 1363 [3546 |3465 3387 3m2 |3240 3170 3002 |3037 2974 [29i4 [2855 |29 |oses {23s2 lzies |ioesy

5 4853 f47i3 |4580 4452 [4328 |4212 |4100 3993 J3830 3791 3696 12605 3517 {3433 {3352 fiora |2sw lrese Jzeas |22

6 _|5795 J560t |5417 fsa4z [50O76 J4gi7 fa7er |4623 4486 J43ss Jaan l4i1 lsvos [18sa favme 3ess |33 eost Prean {aass

716728 6472 16230 f6007 |5786 5582 [53B9 |5206 5033 [4888 |a712 lasea Je42y j4288 |e160 4038 3605 3161 |zeor |25

B [7652 |7325 |7Qe0 6733 |6463 [6210 597 5747 5535 [5335 5146 4968 {4799 [ae39 [4487 [4342 |83 3129 [2925 |2ses

3 |B566 8162 J7786 |7435 17108 |6802 {6515 |6247 |5995 5759 Jss5ar |53k [513z |4ves [4772 Qseor Jaou [3463 |3o9 fages

10 9471 (8983 8530 fatii (7722 |7360 702 |6710 |6418 6145 [588% Jses0 5426 [S2i6 [song {4833 [a192 (asn |acs: [z71s

11 {1037 |9787 9253 [8760 |8306 |7887 |7499 |7139 |6805 Jeeas [6207 5938 Jses7 [545) 5234 fso29 [a307 |3ese {s1er [z7se

te {1126 |1058 19954 9385 18863 8384 §7943 |7s536 [7ier Pesie [e49z 5134 |so18 [ses0 [Sea1 [s197 {4439 |37e5 fii90 lz2ers

13 _f1213 |15 qi0863 19986 19394 (8853 |a3s8 |7o04 [r487 |7103 6750 ledaa |enzz |54 |sses [5342 [as33 [azeo |12z lzvos

14 11300 J1211 [v¢30 [1056 ]9839 19245 ferds 18244 7786 [7367 |sose [6628 lezoz leooe [svas [sdea laer1 (2324 [3249 [z14

15 |1387 Ji285 Jiro4 f1112 j1038 9712 foro8 8559 {8cel f7606 |7ign Jesir [6482 {6142 Jsa47 5575 feers |1s59 [3268 2825

16_J1472 J13S8_[1zse [1165 1084 {1011 |9447 |asst |an3 |74 [7379 694 5604 6265 [s9s4 |sees [aro [3asr |3283 Jaus

17 1556 11429 [1347 12tz |iier |1048 9763 |9122 |8544 [soez |7sas J7i20 [6729 Je37a |eowr |sraa [4775 3910 |3285 |zsac

18 1640 J1498 [1375 Ji26e 1169 |1083 11006 9372 8756 j8201 J7702 [7250 6840 |6467 Q6128 lssis {4812 |3928 1334 |osu4

19 1723 11568 [1432 J1313 11209 Ji116 {1034 [9604 [8950 |8265 [7839 [7366 6938 6550 |e198 5877 [4343 [3942 |31 {2848

20 |1805 |ie3s Ji4B8 [1359 J1246 |1147 Jiose Jaig 9129 [85i4 |7963 J7a69 Jroes {5423 |s2ss 5929 J4sro [13%4 [335 [2ss50

21 11886 17Oon [1542 [1403 1282 1176 1084 1002 9292 |se4s |eors |7se2 [7102 {687 lemz |sor3 |4ssr (1363 {3300 [zss2

22 |1866 f17e6 11594 31445 {1316 11204 [1106 |v020 |9442 8772 [8176 7645 7170 f6743 [6359 leon [eo0s |3seo [3323 [onss

23 j2046 11829 Jic44 J1486 |1348 |1230 1127 |i037 9580 |aees [seee |77m8 7230 f6732 6389 |eoas lasos [39re |33es |z ass

24 2124 g9 J1694 Jises 11380 Ji25s f1i47 [i053 9707 feoms [8d48 [rved 17283 [egss Jea3e [ecry Jaoyr |som |3 [2ass

25 2202 Jigsz Jir4y fises {1409 11278 |vieS |1067 9823 [9or7 {g422 |7843 7330 [6873 [6464 |s097 [ages l3oss |13z [osss

30 _Je58 12240 |1960 fires 1537 1376 fies §ii26 |10z |o427 8694 (8055 {7495 [ro03 leses |si77 faore {3995 3332 |2 esz

35 |29 12500 f2149 11866 |1637 1450 [1295 [1165 |i057 |64 |8Bss |8176 [rsss irovo fest7 Jears |4992 [3ses j3any }assy

40 3283 (2736 it fe979 |1716 |1505 11333 J1192 |1o7s Joreo [s9s1 Jsaae |rese [rros [6s4z |e23 [4sor fases | 3333 [ 2857

45 {3608 [2949 |2452 fa07z 11777 1546 {1361 (1241 [1088 Jases |soos {8283 7661 l7i23 {eese [e2sr J4sss Jeooo | 3333 | 2ss7
50 3820 (342 2573 (2048 [1226 |1576 [1380 [1223 |1096 [Ims [9o4z 8304 |rers |7933 feset o246 4995 | 4000 | 3333 | 2e57

Unisa 2017



i FIN2603/RFI2603
May/Jun 2017

Table 3 Present-value interest factors for R1 discounted at k per cent for n penods
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MARK READING SHEET INSTRUCTIONS

Your mark reading sheet 1s marked by computer and should therefore be filled 1n thoroughly and
correctly

USE ONLY AN HB PENCIL TO COMPLETE YOUR MARK READING SHEET
PLEASE DO NOT FOLD OR DAMAGE YOUR MARK READING SHEET

Consult the 1llustration of a mark reading sheet on the reverse of this page and follow the instructions step by
step when working on your sheet

Instruction numbers 0 t0 ® refer to spaces on your mark reading sheet which you should fill in as

follows

0 Write your paper code n these eight squares, for mnstance

PIS|Y|1([0[0]-1]|X

®

The paper number pertans only to first-level courses consisting of two papers

WRITE | 0 § 1 | for the first paperand | O | 2 | for the second If only one paper, then leave blank

Full tn your imitials and surname
Fill in the date of the examination

Fill 1n the name of the examination centre

Q000

WRITE the diggts of your student number HORIZONTALLY (from left to right) Begin by filling in the

first digit of your student number n the first square on the left, then fill in the other digits, each one ina
separate square

o

In each vertical column mark the digat that corresponds to the digit in your student number as follows
[-]
WRITE your unique paper number HORIZONTALLY

NB Yonr umique paper number appears at the top of your examination paper and consists only of digits
(e g 403326)

@ In each vertical column mark the digit that corresponds to the digit number in your umque paper

©

number as follows [-]

10, Question numbers | to 140 indicate corresponding question numbers n your examination paper The

five spaces with digits | to 5 next to each question number indicate an alternative answer to each
question The spaces of which the number correspond to the answer you have chosen for each question
and should be marked as follows {-]

‘ For official use by the invigilator Do not fill in any information here



